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No. of pages - 24 (M) 
PRE-BOARD EXAMINATION (2023-24) 

CLASS : X 
SUBJECT : SOCIAL SCIENCE (087) 

Time Allowed : 3 hours Maximum Marks : 80 
le; % 3 ?kaVs vf/dre vad % 80 

lkekU;&funsZ'k % 

(i) ;g ç'u i=k Ng •.Mksa esa foHkkftr gS & •.M d] •.M •] •.M x] •.M ?k] •.M Ä ,oa •.M pA 

bl ç'u i=k esa oqQy 37 ç'u gSaA 

(ii) lHkh ç'u vfuok;Z gSA ;|fi oqQN ç'uksa esa vkarfjd p;u miyC/ gSA muesa esa ls fdlh ,d ç'u dks gh 

dhft,A 

(iii) ç'uksa osQ lkeus muosQ fu/kZfjr vad fy•s gq, gSaA 

(iv) •.M ^d* (ç'u la[;k 1 ls 20 rd) 1 vad okys cgqoSdfYid çdkj osQ ç'u gSaA 

(v) •.M ^•* (ç'u la[;k 21 ls 24 rd) esa 2 vad okys vfry?kq mÙkjh; ç'u gSaA çR;sd ç'u osQ mÙkj 40 

'kCnksa ls vf/d ugha gksus pkfg,A 

(vi) •.M ^x* (ç'u la[;k 25 ls 29 rd) esa 3 vad okys y?kq mÙkjh; ç'u gSaA çR;sd ç'u osQ mÙkj 60 'kCnksa 

ls vf/d ugha gksus pkfg,A 

(vii) •.M ^?k* (ç'u la[;k 30 ls 33 rd) esa 5 vad okys nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u osQ mÙkj 120 

'kCnksa ugha gksus pkfg,A 

(viii) •.M ^Ä* (ç'u la[;k 34 ls 36 rd) esa 4 vad okys osQl vk/kfjr ç'u gSA  

(ix) •.M ^p* (ç'u la[;k 37) ,d ekufp=k vk/kfjr ç'u gS tks 5 vadksa dk gS ftlesa 37a bfrgkl ls 

lEcaf/r 2 vadksa dk ekufp=k dk;Z vkSj 37b Hkwxksy ls lEcaf/r 3 vadksa dk ekufp=k dk;Z gSA 

(x) ekufp=k vk/kfjr ç'u la[;k 37 osQ LFkku ij n`f"Vckf/r fo|kfFkZ;ksa osQ fy, vyx ls ç'u fn, x, gSaA 

GENERAL INSTRUCTIONS : 

(i) The question paper is divided into six sections - Section A, Section B, Section C, Section D, Section E 
and Section F. The question paper has 37 questions in all. 

(ii) All questions are compulsory; however internal choice is given in some questions. Attempt any one of 
them. 

(iii)  Marks are indicated against each question. 
(iv)  Section A (Questions from serial number 1 to 20) has Multiple Choice type questions of I mark each. 
(v)  Section B (Questions from serial number 21 to 24) are Very Short Answer type questions of 2 marks 

each. Answer of these questions should not exceed 40 words each. 
(vi) Section C (Questions from serial number 25 to 29) are Short Answer type questions of 3 marks each. 

Answer of these questions should not exceed 60 words each. 
(vii)  Section D (Questions from serial number 30 to 33 ) are Long Answer type questions of 5 marks each. 

Answer of these questions should not exceed 120 words each.  
(viii)  Section E (Questions from serial number 34 to 36) are case based questions, carrying 4 marks each. 
(ix) Section F (Question number 37) is a map based question of 5 marks, in which 37a is History related 

map work of 2 marks while 37b is Geography related map work of 3 marks.  
(x) Separate questions are given for Visually Impaired Students only in lieu of map based question number 

37. 
************* 
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[kaM&d (cgq&fodYih; iz'u) 

(20x1=20) 

1- eku yhft, vki ,d cSad esa eSustj ds in ij dk;Zjr gSA vkids le{k ½.k forj.k ds fy, 

pkj vkosnu vk, gSa (ftudk fooj.k uhps rkfydk esa fn;k x;k gSA) ;fn vU; dkjd leku gksa 

rks crkb, vki fuEufyf•r esa ls fdls lcls igys ½.k çnku djsaxs rkfd ½.k dh okilh 

le; ij gks ldsA   (1) 

vkosnd dk uke vko';d dkxtkr leFkZd ½.kk/kj iqjkuk ½.k 

eksgu gk¡ gk¡ ugha 

';ke gk¡ ugha gk¡ 

nhid ugha ugha gk¡ 

fouksn ugha ugha ugha 

 

 (a) eksgu  (b) ';ke 

 (c) nhid  (d) fouksn 

2- fuEufyf•r esa ls fdlus ^ck¡/ksa dks vk/qfud Hkkjr ds eafnj* dh laKk nh\ (1) 

 (a) egkRek xka/h (b) iafMr tokgj yky usg: 

 (c) ljnkj oYyHk HkkbZ iVsy (d) yky cgknqj 'kkL=kh 

3- Jherh iwue laxfBr {ks=kd esa dk;Zjr gSA crkb, fuEufyf•r esa ls dkSu lh lqfo/k mUgsa çkIr 

gksxh\      (1) 

 1- fu;fer osru 

 2- losru vodk'k 

 3- jkstxkj dh vlqj{kk 

 (a) dsoy 1 (b) dsoy 2 

 (c) dsoy 1 o 3 (d) dFku 1 o 2 
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SECTION-A (Multiple-Choice Questions) 

(20x1=20) 

1. Suppose you are working as a manager in a bank. You have received four applications 

for loan disbursement (details of which are given in the table below). It other facts are 

remain similar, whom you would provide loan first so that loan repayment happen on 

time.     (1) 

Name of applicants Required 

documents 

Collateral Old Loan 

Mohan YES YES NO 

Shyam YES NO YES 

Deepak NO NO YES 

Vinod NO NO NO 

 

 (a) Mohan (b) Shyam 

 (c) Deepak (d) Vinod 

2. Who among the following proclaimed 'dams as temples of modern India'? (1) 

 (a) Mahatma Gandhi (b) Pandit Jawahar Lal Nehru 

 (c) Sardar Vallabh Bhai Patel (d) Lal Bahadur Shastri 

3. Mrs. Poonam works in organized sector. State which of the following facilities she will 

enjoy?    (1) 

 1.  Regular wages  

 2.  Paid leaves 

 3. Job insecurities 

 (a) Only 1 (b) Only 2 

 (c) Only 1 and 3 (d) Only 1 and 2 
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4- 'kkdkgkjh Hkkstu esa ---------------------- lokZf/d çksVhunk;d gSA (1) 

 (a) cktjk  (b) xsgw¡ 

 (c) pkoy  (d) nky 

5- fdlh ns'k dh vkSlr vk; dh x.kuk djus ds fy, ns'k dh dqy vk; dks fdlls Hkkx fn;k 

tkrk gS\    (1) 

 (a) ns'k dh dqy tula[;k (b) ns'k dh vk/h tula[;k 

 (c) ns'k dh dekus okyh tula[;k (d) ns'k dh o;Ld tula[;k 

6- ,d d{kk esa i<+krs le; Jherh uh: dks mudh ,d fo|kFkhZ us crk;k fd mldh ekrkth o 

firkth nksuksa ,d iQSDVªh esa dk;Zjr gSA dke ls vkus ds ckn ekrkth ; firkth nksuksa feydj ?kj 

dh ftEesnkjh dks cjkcj :i ls ckaVrs gS ,oa ?kj ds gj iQSlys esa ekrkth ,oa firkth lHkh ls 

ppkZ djds fu.kZ; djrs gSA crkb, mijksDr mnkgj.k D;k çnf'kZr djrk gS\ (1) 

 (a) /eZ ds vk/kj ij HksnHkko (b) fyax ds vk/kj ij HksnHkko 

 (c) fyax ds vk/kj ij lekurk (d) /eZ ds vk/kj ij lekurk 

7- ç'kk ds ml jktk dk uke crkb, ftls olkZ; esa gq, lekjksg esa teZuh dk lezkV ?kksf"kr dj 

fn;kA     (1) 

 (a) fofy;e çFke (b) fofy;e f}rh; 

 (c) gsujh IV (d) yqbZ VI 

8- fuEufyf•r esa ls dkSu&lk@ls Hkkjr esa ck?k laj{k.k ifj;kstuk dk mnkgj.k gS\ (1) 

 1- ekul ck?k fjtoZ 

 2- isfj;kj ck?k fjtoZ 

 3- dkWjcsV jk"Vªh; m|ku 

 (a) dsoy 1 o 2 (b) dsoy 2 o 3 

 (c) dsoy 1 o 3 (d) 1] 2 o 3 lHkh 
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4. ___________ is the major source of protein in vegetarian food. (1) 

 (a) Bajra  (b) Wheat 

 (c) Rice  (d) Pulse 

5. To calculate the average income of a country, total income of the country is divided by 

which of the following?   (1) 

 (a) Total population of the country 

 (b) Half of the population of the country 

 (c) Earning population of the country 

 (d) Adult population of the country 

6. While teaching in a class, Mrs. Neeru was told by her student that both her father and 

mother worked in a factory. After returning from factory, her parents share the 

responsibility equally and before taking any decision they discuss with everyone in the 

family. State what does the above example shows? (1) 

 (a) Discrimination on the basis of religion 

 (b) Discrimination on the basis of gender 

 (c) Equality on the basis of gender 

 (d) Equality on the basis of religion 

7. Identify the name of Prussian king who was proclaimed German Emperor in a ceremony 

held at Versailles.   (1) 

 (a) William I (b) William II 

 (c) Henry IV (d) Louis VI 

8. Which among the following is an example/s of Tiger reserve project in India? (1) 

 1. Manas Tiger Reserve 2. Periyar Tiger Reserve 

 3. Corbett National Park 

 (a) Only 1 and 2 (b) Only 2 and 3 

 (c) Only 1 and 3 (d) All 1, 2 and 3 
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9- xyr dFku dh igpku dhft,A   (1) 

 (a) cafdepaæ pêðksikè;k; us ^oUns ekrje~* dh jpuk dhA 

 (b) egkRek xka/h us paikj.k esa uhy fdlkuksa ds vkanksyu dk usr`Ro fd;kA 

 (c) iafMr tokgj yky usg: us ^fgUn Lojkt* uked iqLrd dh jpuk dhA 

 (d) uVslk 'kkL=kh us ^n iQksdykslZ vkWiQ lnuZ bafM;k* ds uke ls rfey yksd dFkkvksa dk 

ladyu çdkf'kr fd;kA 

10- lgh feyku djds mfpr fodYi dk p;u dhft,A (1) 

 LraHk d  LraHk [k 

a la?k lwph I f'k{kk 

b jkT; lwph II çfrj{kk 

c leorhZ lwph III O;kikj ,oa okf.kT; 

 

 (a) a-I, b-II, c-III (b) a-II, b-I, c-III 

 (c) a-III, b-I, c- II (d) a-II, b-III, c-I 

11- fuEufyf•r ?kVukvksa ds lgh dkyØe dks fn, x, fodYiksa esa ls pqfu, & (1) 

 1- tsEl vkWxLVl fgDdh }kjk lkIrkfgd if=kdk caxky xtV dk çdk'ku 

 2- jktk jkeeksgu jk; }kjk laokn dkSeqnh dk çdk'ku 

 3- iQkjlh v•ckj tke&,&tgk¡ dk çdk'ku 

 4- jkepfjrekul dk igyk eqfær laLdj.k 

 fodYi% 

 (a) 1] 2] 3] 4 (b) 4] 3] 2] 1 

 (c) 3] 2] 4] 1 (d) 1] 4] 2] 3 
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9. Choose the Incorrect option.   (1) 

 (a) 'Vande Mataram' was written by Bankim Chandra Chattopadhyay. 

 (b) Mahatma Gandhi led the movement for Indigo planters in Champaran. 

 (c) The book named 'Hind Swaraj' was published by Pandit Jawahar Lal Nehru. 

 (d) A collection of Tamil folk tales, 'The Folklore of Southern India' was published by 

Natesa Sastri. 

10. Match the following and Choose the correct option. (1) 

 Column - A  Column - B 

a Central List I Education 

b State List II Defence 

c Concurrent List III Trade and Commerce 

 

 (a) a-I, b-II, c-III (b) a-II, b-I, c-III 

 (c) a-III, b-I, c- II (d) a-II, b-III, c-I 

11. Select the correct chronology of the following events from the given options - (1) 

 1. Publication of weekly magazine Bengal Gazette by James Augustus Hickey. 

 2.  Publication of Samvad Kaumudi by Raja Rammohan Roy. 

 3. Publication of Persian newspaper Jam-e-jahan. 

 4. First printed edition of Ramcharitmanas. 

 Option: 

 (a) 1, 2, 3, 4 (b) 4, 3, 2, 1 

 (c) 3, 2, 4, 1 (d) 1, 4, 2, 3 
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12- fuEufyf•r esa ls fdl jkT; esa ^ckal fMªi flapkbZ ç.kkyh* dk mi;ksx o"kkZ ty laxzg.k ds fy, 

dkiQh le; ls fd;k tkrk jgk gS\   (1) 

 (a) es?kky; (b) jktLFkku 

 (c) vksfM'kk (d) iatkc 

13- ,d ns'k esa nks ny gh lÙkk ds fy, pqukoksa esa Hkkxhnkjh djrs gSaA mu nksuksa nyksa dh uhfr;ksa vkSj 

dk;ZØeksa esa le:irk (,d tSls) ns•us dks feyrh gSA crkb, bl ns'k ds jktuhfrd ny fdl 

çdkj dh pqukSrh dk lkeuk dj jgs gSa%   (1) 

 (a) fodYighurk 

 (b) vkarfjd yksdra=k dk vHkko 

 (c) oa'kokn 

 (d) vijkf/d rRoksa dh c<+rh la[;k 

14- eksuktkbV jsr esa fuEufyf•r esa ls dkSu&lk •fut ik;k tkrk gS\ (1) 

 (a) •fut rsy (b) ;wjsfu;e 

 (c) Fkksfj;e (d) dks;yk 

15- fuEufyf•r fo'ks"krkvksa ds vk/kj ij eǹk dh igpku dhft,A  (1) 

 1- ;s ènk vkerkSj ij igkM+h vkSj ioZrh; {ks=kksa esa ikbZ tkrh gSA 

 2- bl e`nk ds xBu esa ioZrh; i;kZoj.k ds vuqlkj cnyko vkrk gSA 

 3- unh ?kkfV;ksa ds fupys {ks=kksa fo'ks"kdj unh lksikuksa vkSj tyks<+ ia•ksa] vkfn esa ;s e`nk,¡ 

mitkÅ gksrh gSaA 

 fodYi% 

 (a) dkyh e`nk (b) ou e`nk 

 (c) ysVjkbV e`nk (d) e:LFkyh; e`nk 
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12. In which of the following states, bamboo drip irrigation system has been used for rain 

water harvesting for a long time?   (1) 

 (a) Meghalaya (b) Rajasthan 

 (c) Odisha (d) Punjab 

13. In a country only two parties participate in elections for power. There is similarity in the 

policies and programs of both the parties. State what kind of challenges are the political 

parties of this country facing?   (1) 

 (a) Lack of meaningful choice 

 (b) Lack of internal democracy 

 (c) Dynastic succession 

 (d) Increasing number of muscle power 

14. Which one of the following mineral is contained in the Monazite sand? (1) 

 (a) Mineral oil (b) Uranium 

 (c) Thorium (d) Coal 

15. Identify the type of soil on the basis of following characteristics: (1) 

 1.  This soil are found in the hilly and mountainous areas. 

 2. The soil texture varies according to the mountain environment where it is formed. 

 3.  This fertile is soils found in the lower parts of the valleys particularly on the river 

terraces and alluvial fans. 

 (a) Black Soil (b) Forest Soil 

 (c) Laterite Soil (d) Arid Soil 
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16- fuEufyf•r esa ls D;k oS'ohdj.k dks c<+kus esa lgk;d ugha gS\ (1) 

 (a) lwpuk ,oa lapkj çkS|ksfxdh (b) mnkjhdj.k 

 (c) ifjogu çkS|kfxdh (d) O;kikj vojks/dksa dks yxkuk 

17- uhps nks dFku fn, x,] vfHkdFku (A) vkSj dkj.k (R) dFkuksa dks if<+, vkSj lgh fodYi dk 

p;u dhft,A    (1) 

 vfHkdFku (A) % lÙkk esa yksxksa dh Hkkxhnkjh yksdra=k dks etcwr cukrh gSA 

 dkj.k (R) % yksdra=k dk cqfu;knh fl¼kar gS fd turk gh lkjh jktuhfrd 'kfDr dk Ïksr gSA 

 fodYi % 

 (a) vfHkdFku (A) ,oa dkj.k (R) nksuksa lgh gS ,oa dkj.k] vfHkdFku dh lgh O;k[;k gSA 

 (b) vfHkdFku (A) ,oa dkj.k (R) nksuksa lgh gS ijUrq dkj.k] vfHkdFku dh lgh O;k[;k 

ugha gSA 

 (c) vfHkdFku (A) lgh gS ,oa dkj.k (R) xyr gSA 

 (d) vfHkdFku (A) xyr gS ijarq dkj.k (R) lgh gSA 

18- uhps nks dFku fn, x,] vfHkdFku (A) vkSj dkj.k (R) dFkuksa dks if<+, vkSj lgh fodYi dk 

p;u dhft,A    (1) 

 vfHkdFku (A) % ,d ns'k dh vFkZO;oLFkk ij ladV dk vlj nwljs ns'k dh vFkZO;oLFkk ij 

Hkh iM+rk gSA  

 dkj.k (R) % oS'ohdj.k us ns'kksa dh vFkZO;oLFkk dks vkil esa tksM+ fn;k gSA 

 fodYi % 

 (a) vfHkdFku (A) ,oa dkj.k (R) nksuksa lgh gS ,oa dkj.k] vfHkdFku dh lgh O;k[;k gSA 

 (b) vfHkdFku (A) ,oa dkj.k (R) nksuksa lgh gS ijUrq dkj.k] vfHkdFku dh lgh O;k[;k 

ugha gSA 

 (c) vfHkdFku (A) lgh gS ,oa dkj.k (R) xyr gSA 

 (d) vfHkdFku (A) xyr gS ijarq dkj.k (R) lgh gSA 
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16. Which among the following is Not helpful in increasing the globalization? (1) 

 (a) Information and Communication Technology 

 (b) Liberalisation 

 (c) Transportation Technology 

 (d) Imposing trade barrier 

17. The two statements are given below Assertion (A) and Reason (R). Read the statements 

and choose the correct option:   (1) 

 Assertion (A) : Power sharing among people strengthen the democracy.  

 Reason (R) : One basic principle of democracy is that people are the source of all 

political power. 

 Option : 

 (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct 

explanation of Assertion (A). 

 (c) Assertion (A) is correct and Reason (R) is incorrect. 

 (d) Assertion (A) is incorrect but Reason (R) is correct. 

18. The two statements are given below Assertion (A) and Reason (R). Read the statements 

and choose the correct option:   (1) 

 Assertion (A) : A crisis in the economy of a one country also impacts the other country. 

 Reason (R) : Globalization has interconnected the economy of the countries. 

 Option : 

 (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct 

explanation of Assertion (A). 

 (c) Assertion (A) is correct and Reason (R) is incorrect. 

 (d) Assertion (A) is incorrect but Reason (R) is correct. 
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19- uhps nks dFku fn, x,] vfHkdFku (A) vkSj dkj.k (R) dFkuksa dks if<+, vkSj lgh fodYi dk 

p;u dhft,A    (1) 

 vfHkdFku (A) % pk; ,d egRoiw.kZ jksi.k iQly gSA 

 dkj.k (R) % Hkkjr esa pk; dk mRiknu ugha gksrk gSA 

 fodYi % 

 (a) vfHkdFku (A) ,oa dkj.k (R) nksuksa lgh gS ,oa dkj.k] vfHkdFku dh lgh O;k[;k gSA 

 (b) vfHkdFku (A) ,oa dkj.k (R) nksuksa lgh gS ijUrq dkj.k] vfHkdFku dh lgh O;k[;k 

ugha gSA 

 (c) vfHkdFku (A) lgh gS ,oa dkj.k (R) xyr gSA 

 (d) vfHkdFku (A) xyr gS ijarq dkj.k (R) lgh gSA 

20- uhps nks dFku fn, x,] vfHkdFku (A) vkSj dkj.k (R) dFkuksa dks if<+, vkSj lgh fodYi dk 

p;u dhft,A    (1) 

 vfHkdFku (A) % tkiku dh lcls iqjkuh iqLrd Mk;eaM lw=k 868 bZ- esa NihA 

 dkj.k (R) % ;ksgku xqVucxZ ,d Úkalhlh ;k=kh FkkA 

 fodYi % 

 (a) vfHkdFku (A) ,oa dkj.k (R) nksuksa lgh gS ,oa dkj.k] vfHkdFku dh lgh O;k[;k gSA 

 (b) vfHkdFku (A) ,oa dkj.k (R) nksuksa lgh gS ijUrq dkj.k] vfHkdFku dh lgh O;k[;k 

ugha gSA 

 (c) vfHkdFku (A) lgh gS ,oa dkj.k (R) xyr gSA 

 (d) vfHkdFku (A) xyr gS ijarq dkj.k (R) lgh gSA 
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19. The two statements are given below Assertion (A) and Reason (R). Read the statements 

and choose the correct option:   (1) 

 Assertion (A) : Tea is an important plantation crop. 

 Reason (R) : There is no production of Tea in India. 

 Option : 

 (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct 

explanation of Assertion (A). 

 (c) Assertion (A) is correct and Reason (R) is incorrect. 

 (d) Assertion (A) is incorrect but Reason (R) is correct. 

20. The two statements are given below Assertion (A) and Reason (R). Read the statements 

and choose the correct option:   (1) 

 Assertion (A) : The oldest book of Japan, The Diamond Sutra was published in 868 AD. 

 Reason (R) : Johann Gutenberg was a French traveler. 

 Option : 

 (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct 

explanation of Assertion (A). 

 (c) Assertion (A) is correct and Reason (R) is incorrect. 

 (d) Assertion (A) is incorrect but Reason (R) is correct. 
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[kaM&[k (vfry?kq mÙkjh;&iz'u) 

(4x2=8) 

21- lkaLÑfrd vknku&çnku esa •k| inkFkks± dh Hkwfedk dk mYys• dhft,A (2) 

22- (d) mnkgj.kksa ds ekè;e ls crkb, lÙkk esa lk>snkjh D;ksa vko';d gS\ (2) 

vFkok 

 ([k) ^lÙkk esa lk>snkjh çnku u djuk ns'k dks x`g;q¼ dh rjiQ ys tkrk gSA* Jhyadk ds fo'ks"k 

mnkgj.k dh lgk;rk ls dFku dh iqf"V dhft,A 

23- Hkkjrh; lafo/ku ds mu çko/kuksa dk mYys• dhft, tks Hkkjr dks ,d /eZfujis{k jkT; ds :i 

esa LFkkfir djrs gSaA   (2) 

24- vius nSfud thou esa ç;ksx gksus okys fdUgha nks •futksa ds uke fyf•,A (2) 

[kaM&x (y?kq mÙkjh;&iz'u) 

(5x3=15) 

25- Lo;a lgk;rk lewg dh dk;Zç.kkyh ij laf{kIr fVIi.kh fyf•,A (3) 

26- (d) pkoy ds mRiknu ds fy, vko';d HkkSxksfyd n'kkvksa dk o.kZu dhft,A (3) 

vFkok 

 ([k) xsgw¡ ds mRiknu ds fy, vko';d HkkSxksfyd n'kkvksa dk o.kZu dhft,A 

27- ^yksdra=k ,d mÙkjnk;h] ftEesokj vkSj oS/ 'kklu ç.kkyh dh LFkkiuk djrk gSA* dFku dk 

fo'ys"k.k dhft,A   (3) 

28- mRiknu esa r`rh;d {ks=kd dh c<+rh Hkwfedk dh leh{kk dhft,A (3) 

29- Úkalhlh Økafr esa eqæ.k laLÑfr dh Hkwfedk dk ewY;kadu dhft,A (3) 
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SECTION-B (Very Short Answer Type Questions) 

(4x2=8) 

21. Mention the role of food materials in the cultural exchange. (2) 

22. (a) Explain through examples why power sharing is necessary? (2) 

OR 

 (b) 'Not providing power sharing leads a country towards civil war. Justify the 

statement with the help of special example of Sri Lanka. 

23. Mention those provisions of Indian Constitution which establish India as a secular state.(2) 

24. Write the names of any two minerals used in your daily life. (2) 

SECTION-C (Short Answer Type Questions) 

(5x3=15) 

25. Write a brief note on the functioning of Self Help Group. (3) 

26. (a) Describe the geographical conditions necessary for the production of rice. (3) 

OR 

 (b) Describe the geographical conditions necessary for the production of wheat. 

27. 'Democracy establishes an accountable, responsible and legitimate governance system.' 

Analyze the statement.   (3) 

28. Review the increasing role of tertiary sector in production. (3) 

29. Evaluate the role of print culture in the French Revolution. (3) 



X-SOCIAL SCIENCE-M 16 

[kaM&?k (nh?kZ mÙkjh;&iz'u) 

(4x5=20) 

30- (d) Hkkjrh; Lora=krk vkanksyu esa yksd&dFkkvksa] xhrksa] fp=kksa o çrhdksa dh Hkwfedk dh O;k[;k 

dhft,A   (5) 

vFkok 

 ([k) egkRek xka/h }kjk pyk, x, fofHkUu vkanksyuksa ds dsUæh; rRoksa dh O;k[;k dhft,A 

31- (d) Hkk"kk ds vk/kj ij jkT;ksa dk iquZxBu yksdrkaf=kd Hkkjr dh igyh pqukSrh FkhA Hkk"kk;h 

jkT;ksa dh liQyrk ds vk/kj ij dFku dh vkykspukRed leh{kk dhft,A (5) 

vFkok 

 ([k) Hkkjrh; lafo/ku ds mu çko/kuksa dk mYys• dhft, tks Hkkjrh; 'kklu O;oLFkk dks 

la?kh; 'kklu O;oLFkk ds :i esa LFkkfir djrh gS\ 

32- (d) Hkwfe laj{k.k ds dqN mik; crkb,A   (5) 

vFkok 

 ([k) lrr iks"k.kh; fodkl dh vko';drkvksa dk o.kZu dhft,A 

33- (d) Hkkjr esa fjtZo cSad ds dk;ks± dh ij• dhft,A  (5) 

vFkok 

 ([k) ^xzkeh.k {ks=kd vkt Hkh lk• ds fy, vukSipkfjd {ks=kd ij fuHkZj gSA* dFku dh ij• 

dhft,A 
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SECTION-D (Long Answer Type Questions) 

(4x5=20) 

30. (a) Explain the role of folk tales, songs, pictures and symbols in the Indian 

independence movement.   (5) 

OR 

 (b) Explain the central elements of the various movements led by Mahatma Gandhi. 

31. (a)  Reorganization of states on the basis of language was the first challenge of 

democratic India.' Critically review the statement on the basis of success of 

linguistic states.   (5) 

OR 

 (b) Mention those provisions of the Indian Constitution which establish the Indian 

system of governance as a federal system? 

32. (a) Mention some measures for land conservation. (5) 

OR 

 (b) Describe the need of sustainable development. 

33. (a) Examine the functions of the Reserve Bank of India. (5) 

OR 

 (b) The rural sector is still dependent on the informal sector for credit. Examine the 

statement. 
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[kaM&Ä (osQl vk/kfjr iz'u) 

(3x4=12) 

34- vuqPNsn dks i<+dj iwNs x, ç'uksa osQ mÙkj nhft,A (1$1$2¾4) 

 ftUgsa vkt ge teZuh] bVyh vkSj fLoV~”kjySaM ds :i esa tkurs gSa os rc jkt'kkfg;ksa] Mfp;ksa 

(duchies) vkSj dSaVuksa (cantons) esa c¡Vs gq, Fks] ftuds 'kkldksa ds Lok;Ùk {ks=k FksA iwohZ vkSj 

eè; ;wjksi fujadq'k jktra=kksa ds v/hu Fks vkSj bu bykdksa esa rjg&rjg ds yksx jgrs FksA os vius 

vki dks ,d lkewfgd igpku ;k fdlh leku laLÑfr dk Hkkxhnkj ugha ekurs FksA vdlj os 

vyx&vyx Hkk"kk,¡ cksyrs Fks vkSj fofHkUu tkrh; lewgksa ds lnL; FksA mnkgj.k ds rkSj ij] 

vkWfLVª;k&gaxjh ij 'kklu djus okyk gSClcxZ lkezkT; dbZ vyx&vyx {ks=kksa vkSj tulewgksa dks 

tksM+ dj cuk FkkA blesa ,sYIl ds fVjkWy] vkWfLVª;k vkSj lqMsVsuySaM tSls bykdksa ds lkFk&lkFk 

cksgsfe;k Hkh 'kkfey Fkk tgk¡ ds dqyhu oxZ esa teZu Hkk"kk cksyus okys ”;knk FksA gSClcxZ lkezkT; 

esa yksEckMhZ vkSj osusf'k;k tSls brkyoh&Hkk"kh çkar Hkh 'kkfey FksA gaxjh esa vk/s yksx eSX;kj Hkk"kk 

cksyrs Fks tcfd ckdh yksx fofHkUu cksfy;ksa dk bLrseky djrs FksA xkyhfl;k esa dqyhu oxZ 

iksfy'k Hkk"kk cksyrk FkkA bu çHkko'kkyh lewgksa ds vykok] gSClcxZ lkezkT; dh lhek js•kvksa ds 

Hkhrj Hkkjh la[;k esa •srh djus okys yksx v/hu voLFkk esa jgrs Fks&tSls mÙkj esa cksgsfe;u vkSj 

Lyksokd] dkfuZvksyk esa LyksosUl] nf{k.k esa Øks,V rFkk iwjc dh rjiQ VªkaflYosfu;k esa jgus okys 

jkmeu yksx ,slk iQoQZ jktuhfrd ,drk dks vklkuh ls c<+kok nsus okyk ugha FkkA bu rjg&rjg 

ds lewgksa dks vkil esa ck¡/us okyk rRo] dsoy lezkV ds çfr lcdh fu"Bk FkhA 

 34-1 fujadq'k jktra=k ls vki D;k le>rs gS\  (1) 

 34-2 eSX;kj fdl {ks=k esa cksyh tkrh Fkh\  (1) 

 34-3 lkewfgd igpku dh Hkkouk dks c<+kus esa dkSu&dkSu ls dkjd lgk;d gS\ (2) 
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SECTION-E (Case Based Questions) 

(3x4=12) 

34. Read the passage given below and answer the following questions. (1+1+2-4) 

 What we know today as Germany, Italy and Switzerland were divided into kingdoms, 

duchies and cantons whose rulers had their autonomous territories. Eastern and Central 

Europe were under autocratic monarchies within the territories of which lived diverse 

peoples. They did not see themselves as sharing a collective identity or a common 

culture. Often, they even spoke different languages and belonged to different ethnic 

groups. The Habsburg Empire that ruled over Austria-Hungary, for example, was a 

patchwork of many different regions and peoples. It included the Alpine regions- The 

Tyrol, Austria and the Sudetenland - as well as Bohemia, Where the aristocracy was 

predominantly German-speaking, It also Included the Italian-speaking provinces of 

Lombardy and Venetia. In Hungary, half of the population spoke Magyar while the other 

Half spoke a variety of dialects. In Galicia, the aristocracy spoke Polish. Besides these 

three dominant groups, there also lived within The boundaries of the empire, a mass of 

subject peasant peoples - Bohemians and Slovaks to the north. Slovenes in Carniola, 

Croats To the south, and Roumans to the east in Transylvania. Such differences did not 

easily promote a sense of political unity. The only tie binding these diverse groups 

together was a common allegiance to the emperor. 

 34.1  What do you understand by absolute monarchy? (1) 

 34.2  In which region was Magyar spoken?  (1) 

 34.3  What factors help in promoting the sense of collective identity? (2) 
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35- vuqPNsn dks i<+dj iwNs x, ç'uksa ds mÙkj nhft,A (1$1$2¾4) 

 dqN ns'kksa esa lÙkk vkerkSj ij nks eq[; nyksa ds chp gh cnyrh jgrh gSA ogk¡ vusd nwljh 

ikfVZ;k¡ gks ldrh gSa] os Hkh pquko yM+dj dqN lhVsa thr ldrh gSa ij fliQZ nks gh ny cgqer 

ikus vkSj ljdkj cukus ds çcy nkosnkj gksrs gSaA vejhdk vkSj fczVsu esa ,slh gh nks nyh; 

O;oLFkk gSA tc vusd ny lÙkk ds fy, gksM+ esa gksa vkSj nks nyksa ls T;knk ds fy, vius ne 

ij ;k nwljksa ls xBca/u djds lÙkk esa vkus dk Bhd&Bkd volj gks rks bls cgqnyh; O;oLFkk 

dgrs gSaA Hkkjr esa Hkh ,slh gh cgqnyh; O;oLFkk gSA bl O;oLFkk esa dbZ ny xBca/u cukdj Hkh 

ljdkj cuk ldrs gSaA tc fdlh cgqnyh; O;oLFkk esa vusd ikfVZ;ksa pquko yM+us vkSj lÙkk esa 

vkus ds fy, vkil esa gkFk feyk ysrh gSa rks bls xBca/u ;k ekspkZ dgk tkrk gSA 

 35-1 la;qDr jkT; vesfjdk esa f}nyh; ç.kkyh çpfyr gSA fVIi.kh dhft,A (1) 

 35-2 cgqnyh; ç.kkyh dks le>kb;sA   (1) 

 35-3 vkids vuqlkj Hkkjr ds fy, fdl çdkj dh nyh; O;oLFkk csgrj gksxh vkSj D;ksa\ (2) 

36- uhps nh xbZ rkfydk dk vè;;u dj fn, x, ç'uksa ds mÙkj nhft,& (1$1$2¾4) 

rkfydk% gfj;k.kk] dsjy vkSj fcgkj ds dqN rqyukRed vk¡dM+s 

jkT; çfr O;fDr vk; 

2018&19 ds 

fy, (#- esa) 

f'k'kq e`R;q nj 

(2018) 

lk{kjrk nj » 

(2017&18) 

fuoky mifLFkfr 

vuqikr 

(2017&18) 

gfj;k.kk 236147 30 82 61 

dsjy 204105 7 94 83 

fcgkj 40982 32 62 43 
 Source: Economic Survey 2020-21, P.A 29. P.A 157, National Sample Survey 

Organisation (Report No. 585), National statistical office, Government of India. 
 36-1 fdl jkT; esa çfr O;fDr vk; lokZf/d gS\ (1) 

 36-2 vkadM+ksa ds vk/kj ij lcls csgrj LokLF; lqfo/k,¡ fdl jkT; esa gksus dh laHkkouk  

gS\    (1) 

 36-3 fuoy mifLFkfr vuqikr dh O;k[;k dhft,A (2) 
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35. Read the passage given below and answer the following questions. (1+1+2-4) 

 In some countries, power usually changes between two main parties. Several other parties 

may exist, contest elections and win a few seats. In the national legislatures. But only the 

two main parties have a serious chance of winning majority of seats to form government. 

Such a party system is called two-party system. The United States of America and The 

United Kingdom are examples of two-party system. If several parties compete for power, 

and more than two parties has a reasonable chance of coming to power either on their 

own strength or in alliance with others, we call it a multiparty system. Thus in India, we 

have a multiparty system. In this system, the government is formed by various parties 

coming together in a coalition. When several parties in a multi-party system join hands 

for the purpose of contesting elections and winning power, it is called an alliance or a 

front. 

 35.1  Two party system is prevalent in United States of America. Comment. (1) 

 35.2  Explain multiparty system.   (1) 

 35.3 According to you which type of party system would be better for India and  

why?     (2) 

36. Read the table given below and answer the following questions. (1+1+2-4) 

TABLE: SOME COMPARATIVE DATA ON HARYANA, KERALA AND BIHAR 

State Per Capita 
Income For 
2018-19 (in Rs) 

Infant Motality 
Rate per 1,000 
Live births 
(2018) 

Literacy Rate % 
(2017-18) 

Net Attendance 
Ratio (2017-18) 

Haryana 236147 30 82 61 

Kerala 204105 7 94 83 

Bihar 40982 32 62 43 

 Source: Economic Survey 2020-21, P.A 29, P.A 157, National Sample Survey 
Organisation (Report No.585), National statistical office, Government of India. 

 36.1  Which state has the highest per capita income? (1) 

 36.2  Based on statistics, which state is likely to have the best health facilities? (1) 

 36.3  Explain net attendance ratio.   (2) 
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[kaM&p (ekufp=k vk/kfjr&iz'u) 
(2+3=5) 

37- (a) Hkkjr osQ fn, x, jktuhfrd js•k ekufp=k ij nks LFkkuksa A vkSj B ls vafdr fd;k x;k 

gSA  bu LFkkuksa dks uhps nh xbZ tkudkjh dh lgk;rk ls igpkfu, vkSj muds fudV •haph 

xbZ js•kvksa ij fyf•,%    (2x1=2) 

  (I) ml LFkku dh igpku dhft, tgk¡ flrEcj 1920 esa Hkkjrh; jk"Vªh; dkWaxzsl dk 

vf/os'ku gqvk FkkA 

  (II) ml LFkku dh igpku dhft, tgk¡ tfy;k¡okyk ckx gR;kdkaM gqvk FkkA 

 (b) Hkkjr ds blh jktuhfrd js•k ekufp=k esa] fuEufyf•r esa ls fdUgha rhu dks mi;qDr 

fpUgksa ls vafdr dhft, vkSj muds uke fyf•,% (3x1=3) 

  (i) fo'kk•kiV~ue~ iÙku 

  (ii) ikjknhi iÙku 

  (iii) bafnjk xka/h varjkZ"Vªh; gokbZ iÙku 

  (iv) N=kifr f'kokth egkjkt varjkZ"Vªh; gokbZ iÙku 

 uksV% fuEufyf•r ç'u dsoy n`f"Vckf/r ijh{kkfFkZ;ksa ds fy, ç'u la[;k 37 ds LFkku ij gSa& 

fdUgha ik¡p ç'uks ds mÙkj nhft,A   (5x1=1) 

 (37-1) ml LFkku dk uke fyf•, tgk¡ flrEcj 1920 esa Hkkjrh; jk"Vªh; dkaxzsl dk 

vf/os'ku gqvkA 

 (37-2) ml LFkku dk uke fyf•, tgk¡ tfy;k¡okyk ckx gR;kdkaM gqvk FkkA 

 (37-3) ml jkT; dsUæ'kkflr çns'k dk uke fyf•, tgk¡ fo'kk•kiV~ue iÙku fLFkr gSA 

 (37-4) ml jkT;@dsUæ'kkflr çns'k dk uke fyf•, tgk¡ ikjknhi iÙku fLFkr gSA 

 (37-5) ml jkT;@dsUæ'kkflr çns'k dk uke fyf•, tgk¡ bafnjk xka/h varjkZ"Vªh; gokbZ iÙku 

fLFkr gSA 

 (37-6) ml jkT;@dsUæ'kkflr çns'k dk uke fyf•, tgk¡ N=kifr f'kokth egkjkt varjkZ"Vªh; 

gokbZ iÙku fLFkr gSA 
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SECTION-F (Map Based Questions) 

(2+3=5) 

37. (a) Two places A and B have been marked on the given political outline map of India. 

Identify these places with the help of the following information and write their 

correct names on the lines drawn near them: (2x1=2) 

  (i) Identify the place where the Indian National Congress Session was held in 

September 1920.  

  (ii) Identify the place, where the Jallianwala Bagh massacre occurred. 

 (b) On the same political outline map of India, locate and label any three of the 

following with suitable symbols:  (3x1=3) 

  (i) Vishakhapatnam port 

  (ii) Paradwip port 

  (iii) Indira Gandhi International Airport 

  (iv) Chhatrapati Shivaji Maharaj Airport 

 Note: The following questions are for the Visually Impaired Candidates only, in lieu of 

Q. No. 37. Answer any five questions.   (5x1=1) 

 37.1  Name the place where the Indian National Congress session was held in September 

1920. 

 37.2 Name the place where Jallianwala Bagh massacre occurred. 

 37.3 Name the State/Union Territory where Vishakhapatnam port is located. 

 37.4 Name the State/Union Territory where Paradip port is located. 

 37.5 Name the State/Union Territory where Indira Gandhi International Airport is 

located. 

 37.6 Name the State/Union Territory where Chhatrapati Shivaji Maharaj International 

Airport is located. 
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iz'u la[;k 37 osQ fy,   For Question No. 37 

 


